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" Le. the 10X to use a W1Tp o as a ‘preparation day’ only occurs with the actual use on the subsequent
day!

2One violates 1217 7271 ONLY if both days are Yom tov- And we cannot deem BOTH to be THE v'"v
X7

> But we don’t need to view BOTH as 1" !

' We are declaring

"> But not that 1Py the 2 day must relate to each other as v"v

' Le. both days are NMX¥22 X7 — so the 7XIN7 loses its meaning.

' 771%29% we don’t need to invoke 1 +1 + 3 in this case since we don’t have a *1n07 >0 — day 1 = X7 0"y
Xn™X7M and day 2 = a separate 131277 "RT1 0" i.e. 1 + 1 = 2. Of course this then parallels the case of
“1°210:7 20 O N,
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'8 L. if ‘isolate’ the first day then it is a Xn>X772 *X71 "1 and no taking of ;ma1Nor setting an 217°Y can
occur that day. The "3 understands the 7"2X7 to be utilizing the "7’ s — ‘each day in isolation’ vs ‘the
q17°¢ of both days’ approach!

¥ 8115 = BOTH the analysis of 1YWRY V"1 as *X71 and that of 21w V" as *X71 with a pao T

20 9"p this principle stand and 1 =1 =3. Such a view of "no7 X7 >n1n' is similar to Bohr’s ‘theory of
complimentarity’ as applied, for example, to light. A physicist views light as BOTH a wave and a particle
SIMULTANEOUSLY, despite the fact that this ‘wave-particle duality’ implies rationally contradictory
properties as truly existing in the same object! The multivalency can be “separated’ or at least made
manifest under appropriate experimental conditions

I Te. the 7"281 'sees' the 2"am7's point — we want to go one step further and say that the 7"2x1 basically
accepts it as well!

* See:
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L.e. the nusach of the °Xin that the 7"2X" is postulating is not the standard - - BUT one that links both days
i.e. whether the first or second day is 771 or wTp the m>n of the 217 or 72170 will occur ONLY ON the
second day.

 LLe. 'objective M1% '

* Ie. 'subjective a1y’
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%% Here the 0"an" is ponn more specifically between 2wmiw and 01°31773x — yes both are P50 7732 BUT
01°117IR = indeterminable P90 =1 + 1 = 3 — there is no ‘lack of tools’ to figure out what it is, it is a 772 of
D0. DMV is a NIRXM2A POD that can be clarified.
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